SEBA Board Class 10 Science Previous year Question
Paper 2018

2018

GENERAL SCIENCE

Full Marks : 80
Pass Marks : 24

Time : 3 hours

Candidates shall note that each question will be
multilingual, viz., in English/ Assamese/ Bengali/
Bodo/Hindi medium, for their ready reference.
In case of any discrepancy or confusion in the
medium/ version, the English version

will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.
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For each question given below, four answers are given. Out of
only one answer is correct. Select the correct answer :

oI AR e TRGIE Tew i wim | TRBR feve Wbz wEm Tl | R
TGO AR Tferean

Mewa oS o ol weq Tem e W | SRGE fPerm g wE TEF | 8T
TeRf @R e

TEEH AASTE HiAE 9938 fmm g m 3| Sl e @da’ 18 R )
T e T R
ﬁ%gmmm%ﬁmwwmw%wﬁﬁﬁ%ﬂawmvﬁ%mﬁ
T .

Fe,03 + 2Al — Al,O3 + 2Fe
The above reaction is an example of a

F6203 + 2Al —» A]QOS + 2Fe
@ T RIGICH! b1 Tarea

FCQO3 + 2A1l > A1203 + 2Fe
o Rt aofb T

F6203 +2Al - A1203 + 2Fe
T s 998 S

F8203 +2Al —» A1203 + 2Fe
FR A W= Afufsear w1 v e R

(@) combination reaction / 961 FEAEH R AR I o
iR / oeeAE ﬁﬂmm / TEA afif

(b) double displacement reaction / @51 B-wesRe R
fa-wopieel RETR / J%F SR R [/ Rl ;.q-&r{hzﬂﬁ

(c) decomposition reaction / 9t REw g / 93 e
ffeare / srrarm ferenam / fEem sl

d)” displacement reaction / 95l SN = / 93 oy
R / SmrEr fenar [/ fRremge sy
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ms are coated with tin and not with zinc because

e S A TEERS e acEel 2w, e e 1 e
AEPTER SCa AR AGECECS B aeEe (redl W, [Se-a9 W | PN

Wﬁwmﬁqﬁw@mmmﬁmﬁwmmt
TR

aE-Ted ¥ Tt w % 6 w5 R 1 A S 3, i

(@) zinc is costlier than tin / oot e wiw / B-a7 (S &
v | Patrgg feren S8 MR / f3 R ey e wEm 2

(b) zinc has a higher melting point than tin / e STETTIRE
et @R [ foce-«R sEmicE B @ @/ et wiferm foraran

Fifm / A 1 s T 1 e e ®
(c) / zinc is more reactive than tin / e foecs ot sfen / &

B calres i ST/ Torpan feafirgs wmiim / fo7 i srden forsh 2fors
srffsramsfiat @

(d) zinc is less reactive than tin /%ﬁm@ﬂm | f& =
e N Aen ) Freen Ratigs @w wim / R Homan T WA
afaframefia @

3. solution turns red litmus blue. Its pH is likely to be
<51 T3 qe A= el FRer 1 WS pH =T AR
= 74 7 oIS A9 IR | 9 pH © I
S TRy e e Hen @renEt | Y pH B wEn s g

% frera o fored w1 fien 9 3 ' | FH pH BEE: R g e
(a) 1

o

1) il i
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Wh of the following is not a correct statement about the & r

trends when going from left to right across the periods of the 1
Periodic Table?

WWWﬂWWﬁWW&GWWW
GO TORCH TR TRETZA (@00 WF S 72 7
s PR ReETe W (T3 ORfE MWW T A
offirbT 2R Bora e Nesa SREacER W (@ TEH ST 7
ST o w R s SRR SR A S A
ST, e SRERR AT e gl T
aed gRol & oTEdE) § ad @ e i W W e yam A=A A
BH-9] FYR 3T 27
(@) The elements become less metallic in nature.
CTRR F9 4roaqTl 02 #fcd |
(RGBT T (eI = 2T |
TREETER @Y uTgai g T S|
a1 $ ufers wfa ged 2|
(b) The number of valence electrons Increases.
@ATES ZEEAR AN AC |
(&S BCAZCAR AN T |
ST SOFZARR AT Fiee! |

e Sl ) e F S R
The atoms lose their valence electrons more easily.

AT e Qe AT HIT TS (FFW |
AT DR (TGS TCoAg HEF T2 T |
gaﬁmﬁn%ﬁmﬁﬁﬁgmﬁmﬁéﬁﬁfméaﬁmﬂu
T ATEER Y AU FEASEAT FHAGA F T R R |
(d) The oxides become more acidic.
wEETEE @R wfEe (2 ||
TG LT WHF 2 |
SFFETEEHR Tl uigai S|
affgeze fes nefig B 9 2
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“The name of the process with the help of which carbon and

energy requirements of an autotrophic organism are fulfilled, is

R et =R b1 TR B I o e arrEAEe) o ¥ W o

@ efFam wm @ TR Sew R a3k e sl o I |
1T

:;ﬁ@@ﬁsh%mmwmﬁwmw’ﬁﬁwm
Eic)

T <fE g TR % g HEA 9o S ) AR ® P w87

photosynthesis / R FKEEY (@& / AP R I / Ly
fafra'smm | wF-gra

(b) transpiration / IEAEDA (= / A=ACHBA W'/ @ TEE
B IS E R

(c) translocation / ¥R (A / FIEEA ¢ [ S AAEEAE [
TIHT

(d) photophosphorylation / R R @F | TemTeRame
| e TR | SRR \ 1

6. The hormone produced by the pancreas that helps in
regulating the blood sugar level is

mmmmqﬁmmwwwwtwﬁ@w’wﬁq
==

m%ﬁammqwmwumw%w%wam@
W%ﬁﬁﬁmmwwmmgﬁsﬁ%mﬁm
T A
?ﬁﬁﬁmwﬁﬁﬂﬁﬁﬁﬁmﬁgﬁ?,mmmwﬁ
B 7, 8

(@ adrenalin / REPR / <G / TR / e

(b) th oxin | AEABA / AFAfIR / SR / o
AM/W@\MW/WR@W

(d) testosterone / BRTR [ (GENET [ TREH [ TR 1
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7,/ The part of the brain responsible for the sensation of hunger
and thirst is

CSRe W PrATZ S gl A1 effRmfare TfFd ST 2
P @R R AR o eifvifre A ARCE A 2
TE SR TR R AR STeeTE Hemft SErne S

ymﬁéﬁﬁﬁﬁauﬁwmﬁq-m T 87
‘ forebrain/ﬁ‘-?f@%/21‘-‘1'%73/f’::l"fi‘.i?f”/:‘H1;"'41:{‘\_‘1'&"a
(b) midbrain / IGAFF / VgAY / TR W / qeamfETsh

(c) hindbrain / *POICIRER / POITFE / I FoH / IREHIETSH

(d) hypothalamus / TX/THEANR / FNUEND / TEY IAHE /
RELIPEE]

8. An electric bulb is rated 220 V and 100 W. When it is operated
on 110V, then the power consumed is

qB1 tapfes I/ 220 V ® 100 W e 31 wir | (ifemr =< 110 V'S
TR I T, (ool TR FIO T']

«3fb Cagies @ 220 V @& 100 W BfEFe a1 wiez 1 795 &% 110 v @
R 9 W, O 9 FI9| 20

Y HferEeR Swwemd 220V IR 100 W R 2| S S
110 V 374 STeRA™ s, f M s

freft forggq et =1 37gma™ 220 V @91 100 W 1 S& 8 110 V W w=ifer
+@ , 79 39 F INIH AHaT wh

(@ 75W
e v
() 100W

(d) S0W
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\Q/V@f the following is not derived from energy of the sun? 1

S (P01 s s w12x 2

fare @Rl e stufs w0

e W W TR g s
Trferfed % & HW-h dn el @ geaw 79 20

(@) Biomass / (& TAWMH / (&R TowE / R Aeman / Semmn

" Nuclear energy / W@ = / FEdm =% / Txmmmi =k /
TR Sl

(c) Geothermal energy / Yoiim *f& / gorin =& / ya fog ok /
AT S

(d) Wind energy / I *f& / g *f& / o) wfw / v S

-

10. hich of the following groups contains only biodegradable
items?

TS T 9 (RS @@ & iR omy e 2
e @Aitee @@ &1 Whied ome s ?

TEETE TE A qeEEe e fem gen €7
frfafas wg! # ¥ frmt Faa Sa Pl g #2

(a) Cake, wood and grass / 12101, S0 == W12/ 401, F15 @1g TP /
Tohen, <] TE / %eh, FTS I T

oo | Fruit peels, cake and lime juice / o= I3, 301 v Gl

= [ TR APT, P ek G 1/ Temt fag, fRan ey R
i / wait = fooae, % M Em W@

(c) Grass, wood and plastic / ¥R, I W< ¥ /T, T @
2B / T, S S AR [ qH, 1S R vt

(d) Grass, flower and leather / 4T, To OF SR / 95, T 9R
BINE] /T, e AW wen /o, B @R =me
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| ROUP—B | Y—sifl / 43| | @—awer [ T—H 0

| 11,/What is the common name of the compound CaOCly? 1
(qel CaOCly3 MR A1 2
@ CaOCly <R SR THL 2
CaOCl, Bxafy wwme &1 717

CaOCl, A 1 Frawer 0 F1 37

. Why is the conversion of ethanol to ethanoic acid an oxidation
reaction? 1

| T 2 RE «fbuts wemes S B @bl e R 2
| ARG TS SBIS s 341 @2l wre R @ 2
' syEE 3 e TRreftm e TR R e ?
T A TS v o e 1 e iR w= e 87
B 13. What is cross-pollination?
lv EC R CIDRIDAT
| TSR F 2
AT ERAT = 17
TG 7

L 14. In which type of reproduction, exchange of genetical material
takes place?

% agre T smida R = 2
@HWWW@W@?
N 1 ST RrerR g S s
\ o o et el e v 27
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15. Define the Lmit of current.
A GFF T foy4 |

AR 9] & WIS |

wifsca TRl Tl g &)
Tored - % wr Y it fafa)

16. Translate the following statements into chemical equations and
then balance them :

TR TR IERINE SRS B e gew 4

57 Tfeeter ARG SRR A G I I

TEEH @) THEATR aHFeEs R o) SwkE! Wy e -
= et =1 Tt wfe % e # uiafie w 3R agha St -

1+1=2

(a) Hydrogen gas combines with nitrogen to form ammonia.
QIRG TE (o0 ARG THACA IS =91 {2 9" oge <6eq |
RGO P TGS 0 TYF T AT S 3 |
BIEG A TE3T ARZSAS S T Frn amfEr |
TSI, TR & W e S a3

(b)

Hydrogen sulphide gas burns in air to give water and
sulphur dioxide.

YT TEERCE IS MRS (2 AR A TN SROEET Seom
A |

FROYEA RS RS 7% T T G3R AFER SRS Beom
I |

TG S HRIESH! TR @A 8 3R WIefen SRemarss snfis |
mmﬁama@ﬁmﬁﬁmmwmmmm
EICE RG]
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~What does one mean by exothermic and endothermic

reactions? Give examples.

S T e R e 3 gen 7 BT |

TPRE) @ SR Rt s R e ? TR e |

gam foseg mwmm@wwﬁﬁ?ﬁﬁ@@!
Fa T T e w1 w s 27 e AT

| Or / 7371 / 9% / Tar / SeaT

(@ Why do we apply paint on iron articles? 1
(o7 T T8 2F fré R 2

| (T2 IFCS SN 0T 2 (@ 2
L S orfy YEresE TEE G S SR A
o R B Tt B e @

| R (b) Oil and fat containing food items are flushed with

|| nitrogen. Why? 1
- (o TF B AT AR LG THAR AT (Ao S =W, 5 2
l n (971 R SRS AT FRGICECA ARCIH *CHT (P S =W 2

e Emﬁ“w“@“@“mw@mwﬁmw
“ 7

; el Td T G-I AT ¥y i e s 27

18. What is the chemical name of bakin
g soda? oz =
produced? Give chemical equation. How is it

| @l WU PR T 2 R @FEmWE awe
o ol ? T oFS 9 W2 IPTANF FFe

cfr cTror TPREE TR F 2 G e o
(AT | ® W7 AP AR
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afe w'ei TErEER get m? SEh qEl aEEEE S TR e
fera

At e w1 THEtS AW ¥ T saed (Pt % fen s 27
TS gHte fafae)

19. Mention the factors that could lead to the rise of a new species.
TP TS GBI Tesifeq A B R Tomme wifvzen cnsm, Tomy 40 |
5 T geien Beofer v & & Somc wawe wiee, ToEd e |

HT ATTETRR HNY e g1 GEisea 2@ 7|’ |
EER UG

2

oG FH-HH ¥ INEH AEAWEF ¢, W Hifrg|

hy is a normal eye not able to see clearly the objects placed
closer than 25 cm?

2
SR 5FCI GBI 25 cm TLF €5IS 41 I (W1 e w2

a3 FERT (GLLA 0T 25 cm (AT I A T8 ~oBed (v 579 =0 1
&

TETE A A1 25 em gz @i SReE Seed 3 AA '
W A3 25 cm § Frere & sgen i gers w9 @ ew e

21. Light enters from air to glass having refractive index 1'5.

What is the speed of light in the glass? (Speed of light in
vacuum is 3x108ms™)

(2R AR °R/ 1-5 2SI I TN A0 IR | F6® (of12qq who
R 2739 (*FIe (R B 3 x108 ms™?)

I (AF AENF 105 AT IoA TG 20 ICHR | IS S
%% T 23 7 ([0 T TS 3 x 108 msT)

|ty ern aFwE 15 ffEer faerst et feitm weiet owe
W Trgfeen S@ei? (e’ s R TafE 3 x 108 mg1)
TN AG R 15 A 6 w9 f e ¥ W@ W ) w1 § g
= TR 27 (P % worm 6 =t 3 x108 ms™! §)
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_\Ate the basic princi

ple of an electric motor. What is the
function of

a split ring in an electric motor? 1+1=2

O <o T R s 1 | o s o R o
meﬁ%ﬁWﬂW|mmﬁfﬁ%%@—mw%ﬁ?
"}%“‘Wﬁ’ﬁ@@@w’lﬁrﬁam%ﬁﬁ@mﬁmm?
ﬁ'ﬂiﬁam%%mw%m@uﬁaﬁﬁmmaﬁwma

23. Write two Precautions taken to avoid the overloading of
domestic electric circuits

whﬁﬁwﬁwwww%wﬁmwﬁw
mmwﬁz@w@mcwmmmwaﬁnﬁww
el
q’ﬁmmwmmmmmm AT
AEE AR gy oy

W], Torepq whtmel # AT & = % e, 2 e Rifa

\}Q{itrogen (atomic number 7) and phosphorus (atomic number

15) belong to group 15 of the Periodic Table. Write the
electronic configuration of these two elements. Which one of
these will be more electronegative? Why? 3
RGN (IR Sewm 7) W wewta (M Sexy 15) *rfigs
Siferere 35l 15% A1 | @ (T TOR TG Ry R | Sgrg PRI @y
Rge 4 23 W@ R0

ARG (TEARE TR 7) R P (<A TR 15) g
OIfeRPR 95 15 (S A0 | % (et B 2eeg iy Ry G | QT coperty
@M Ry YT 23 @R @2

TR (TR S 7) U BEEE (TrmmEm AR 15) ayy
SRR o e 15WE|%WMMW%|
AR A= S Wifees TFE a9 ST TEye

AR (T HEAT 7) A EERE (T ey 15) om=d wwoht ¥
wlséﬁ%lwﬁﬁmmmm|yﬁﬁﬁqmﬁ
aAfereh sroTfered, 8 SR =i
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Or / FZ1 / 931 / AT / e

(a) esides gallium, which other elements have since been
discovered those were left by Mendeleev in his Periodic
Table? (Any two) 1
TR Toifde W @RI (Mo A (N30 NRER @R
R (sfire (969 wierers 5 AR o3 taRd 2 (R i w5)

CIIN =TS o) (@M TSR &1 (TESt WRERE 2671 S0
(esfers O eiferre TM @y ke 2 (@ @ )

TMRMR S AR A REeRE e SRR S
ausforien mafy AreR ok A MeRmA? (STERE-sr 1)

e & el o/ 9% FH-3 ¥ a9 F A gen B, e R
HUSEHIE 3 9 3t o § @l woE B R o 9 e A

(b) Use-Mendeleev’s Periodic Table to predict the formulae for
oxides of the following elements : /i

K and Al
WeFreR *ffige e Ia=E IR oo Wl (NeFshR SHEed
LTS T 91

K 9 Al
S ey el

K @32 Al

Jugferfy STATR o e AR MERE B REEeRe

sreTEst wgee fogd -
K 3m Al

AuRelit 1 e Aol 1 3w R ww % ot % o
1 ATAH HIT -
K qu1 Al
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(c) Why do you think the noble gases arc placed in a separate

-~ group?
TS (TG b1 R <ef ey g i (2R ?
SET3 WG G 42E q0of (FF G (S TARY
ﬁwmmmmnﬁm’mmﬁ?
mﬁwmﬁﬁﬁmwﬁmﬁr@w%?

1

25. How does nerve impulse travel in our body?
WAR (72S Ty (A= (@l 271S =02
SICR (TR Y CeReT Fewa 2_fRe = 7
Sy rere frdm FeeifEn wER A S
<nit w76 3 AR1- 3T o Hae R ST A 7

Or / 7% / 9% / &1 / HUaT

What is an endocrine gland? What is the difference between
an endocrine and an exocrine gland? Name the gland that
performs both endocrine as well as exocrine functions. 1+1+1=3

wmend afe o gl el W ¢ AR afgr TR enem Fo
wzﬁﬁwa&:ﬁmwvwwwmm%m

e R Mo @b WA @k @I WRemA afeq o v Fo
e g AR 75 T A I Ao T e

<Rrerh fasitan m? A iR SR WA ArRAR faeafy AR wwm e
wmmmﬁﬁﬁ@mﬁqﬁjﬂmﬁzﬁaﬁgﬁl

g G &7 sta aen sfREE GE & wn siw 27 stamE @
fe et Sl A EAEA FE A afy w1 A ol
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26. What is the process of reproduction in amoeba? What are the
advantages of sexual reproduction over asexual reproduction?

1+2=3
R CFae F AfeR a@ ewaw ikt =W 0 SO e AfEetE (O
ﬁm&ﬁxmmﬁﬁw%ﬁw

GTRRR (T & offFm qm emmm SEfts w07 Sim eme AR (o
QR o effEFR Ry § Do

i SemE W R SR amE S e af s
Effge anemi T @ T T e

ol # woa e Tl g B 27 rdfe s R sRen S s 3 =
Y 87

27. What is a dominant character? How did Mendel prove through

his experiments that the inherited characters are transmitted
independently from one generation to the next?

oo 5RE 39 aﬁwwwwm«quwsﬁw
TOFOIR WS = IR (et (TSI *RTFR TR (WA 2ATTS TRfEe 2

Nﬁsﬁa%7wﬁwcwmﬂm®w@aﬁﬁ@quw
PSR FoIOE WHES W W (oA SR AW wH Prowa ome
AR 2

1+2=3

T A A7 AR AR 3 37 SR e s S i
AR B Aeeeen TSRS AR ERAH WS ?

mamw%?ﬁm%wﬁﬁﬁ%@ww%ﬁ%ﬁaawmm@
AT Bt &7

Or / %1291 / 921 / =T / syt

Define homologous organs and analogous organs. Can the
wings of a bird and that of a bat be considered as homologous
organs? Justify your answer,

TR R0 I ANYE o kw1 iR

AR I AR MR T
RORAC 17 PRI AR 7 (o Twaeht ST 29 |
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TIE W G TR S @] TS | ARE o AR ALEA AEACP
TAPRE SR 1) A0S AR § 2 o Teafs A AT |
mmmmmmanmﬁ%ﬁmmm@wﬁﬁ
TG T 3 A AR g A R e |

mawmﬂ@ﬁmmlwwq&ﬁaﬁtmﬁd@ﬁ
S 377 g1 1 Fhal 87 379 I ) A& FIWTY

28 The far point of a myopic person is 80 cm in front of the eye.
What is the nature and power of the lens required to correct the

problem? Why do we have two eyes for vision and not just one?
2+1=3

feb-yfam WE e ™ R 539 e 80 cm HgS | € [FIRT
SR A A4S QR @R A B W wyer w2 R aw
AR GO #fRCS T 5P e o 2

gFES TR IGT [ R @Y ORI T 80 cm. @B RIcaw
SN T TG (P 24FfS G Fwe P, fofy 371 1 43 oy

ST GRfoq #IRACE 46 (BT 2T (7 2

gy U ARl @R amEE MeE SRR Rmem 80 om
TAAEE | § S gEi I T A SRgeR R MRl Siei?
Ty srEr SR AT R e o A W A '

Wﬁw@ﬁwﬁﬁ%ﬂwﬁﬁ?ﬂg-ﬁgﬁa%m 80 cm 3| 39 a5 =y
wﬁﬁaﬁ%ﬁnwmﬁuﬁwwwﬁ?ﬁ?q&%mm
GEFECE ARG R

Or / F%1 / Q< / TaT / areran

What are the defects of vision? A person needs a lens of

-5'5 dioptres for correcting his distant vision. For corre t-pOW(?r
near vision, he needs a lens of power +1-5 dioptres th 1r?g his
focal length of the lens required for correcting dista'nt vi:iz;spthe

14+1%=3
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R R 2 wom Trpza @ yRewel Sones IR (@69 55 TEBE
T PO (TR RS | (0€9 RS FRameR S AR SR ed
T +1-5 TRDBR 20 A RGO TN WA TR @ FTGA

T O e 2

1 ReR  §o o T @ GRIES RN T -5-5 SRR
TN (IR WR0F | OR g6 7Reger Soemer o= SerdE Giee

O +1°5 TR A T3 (RGO KON S SRR I (I
ik b

EH TR oW TR AERA TEf TN e e e
~5:5 TRARK el AR T/ = | Tl @l qamed o @ e
T HE S0 TR +1-5 SRR SEse TNM 398 S 7@
T HE AT S

3f® & F-wn Aw §7 TR wfE W oawh @ h R e w e ¥ R
-5:5 D &Wdl % o9 H Ewwdl 81 Au Fee f g @ enie w3 %
T 38§ +1-5 D &war & o9 i afawEshar 81 R g guite @ & R

HEvIE TG h BR g erit?

\y@ulc’s law of heating. When a 12 V battery is connected
across an unknown resistor, there is a current of 25 mA in the
circuit. Find the value of the resistance of the resistor. 1+2=3

o fFaR oeR SJac! for | e @b W @ 12 VI @bl @BRe
FoI® F1 91 T, OIS 2:5 mA 2RI BT = | @R @1 Shevea |

o TR g@-a9 b Gl W 9 qEmS @y 12 V-agz 3l
IR 0 ! F91 2 QBT 2°5 mA o BIere = | @l @i @
il

fog em qef @i for) e W AERR S 12 v R A
FRE BRISTEAE TR ST 2-5mﬁ%amaﬁ%ﬁn%mmﬁ%mﬁ§m

S A Frem wn @7 TR o wiwivs SRR @ 12 v @ e 9
T 0 T OR9Y § 2-5 mA RgE-um vaied €6t ) whiws @ shRy
I FHifse |
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7 Or/TM& /9% / TET [ AT
What“is the commercial unit of electrical energy?
i ich uses more energy—a 250 W TV set in 1 hour or a
1200 W electric iron in 10 minutes and how? 1+2=3
s *fse ImgRe «os &2

PR @R *fe age FRI—aB 250 W3 TV (56 1 961 5fice a1 @by
l 1200 W I (3gies 3% 10 ffS6 sha o= @eats 2

Aies *ifer IfRe gos 992
@=L AR «fE I9ER FE—aTH 250 Weg TV &6 1 961 5oiea
9Fb 1200 W-97 3pfess 3 10 RS woicet w3z e 2

|

| AT WieR(" WITRETR Fwgfean =17

\ HeAE A Wie aEH—@ 250 W 3 TV @2 1 o= giferisen @ @
1200 W 3 Mifser 3fg 10 firfe wifergieen ) wmait?

\ foreq wfvr o1 st A = 27
| forent atfrep forpq wifte 1 SoaE BraT — 250 W 1 Ao o V2 S T =2

T T @ § 31U 1200 W Forpq oo st 10 fime & forw =emn
ST & a7 ShE?

30. Why are we looking at alternative sources of energy? Name a
non-conventional source of energy and its two advantages.

1+2=3

i *fee o T7 Roa 02 9Bl S~ Ree *fes Sorm am B =
TR o1 SjReR Racw TeE 340 |

o *feR s et @9 vR? aﬁwwwrﬁﬁemwcam
G @3 g6 Ry Raew ey e |

St TR e S TR TR A SR v gE § R em
A T @ I e

71 e ¥ Ahfous @Al I 3R 1 wE T ® §7 S F TF FICTT G
] ATH ST AT FHER! I ITAAIATAT T Ig@ HI |
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What is the role of decomposers in the ecosystem? Draw a

diagram showing flow of energy in an ecosystem. 2=3

ffoee Reamems gia 2 abr (f¥ffoegs e *Rees i S |
RfEfeer Rames shm 89 gl ofRfefeerg “fen ~Rrerm B
S |

Srenare FraET et e m e e e o
ey TR Ry |

TR SR A @ v 27 T wies § o % R o R
S| -

32. (@) What happens when ethanol is heated with alkaline
KMnOy or acidified K,Cry,O7? Write the chemical equation
for the reaction. 2

TR KMnO, 731 A KoCry0- 3 070 3eWars Ta¢ TRce
f 6 2 RIFNGR gt meRe S fr |

TR KMnO, W41 BIfEE K ,Cry0 ;-6 518 3eice ey FaA
& w26 2 Rigniba s armfe sRwge @ |

T KMnOy4 T8Teel TR K 5Cry O, T 3ot EESIESIR
STA? ToRsTIoITEaTa) T T TR e fin

K KMnO4 191 3l KoCry07 ¥ o udii =
1 e 77 e % fore Tt wiemm fufe

(b) Explain substitution reaction with one example. 2
b1 THIRRCICI CTee afSmiem R 2 vy |
<l TrrRaerR aifemrem R wrm s
Tid faRfosT e e S@m)
T JSTE ! WEd | Wfoearas it w1 aoiy Hifvm |
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(c) Write the names of the following compounds
ToTd (TSR AR o
A (QoregCeT ARG R
e B GRERE E o -
o= firent % am forfa -
H
() CHy—CHp,—Br (i) H—&=0

Or / 331 / =iy« / uat / rar

(a) What are the products formed when ethanoic acid reacts
with sodium carbonate? Write the chemical equation for
the reaction. 5,

R TR e A Re afice [ IRe 7 R
omef e =8 2 RiFmor e e |

TR TG T Al P Riew v 5 v Reaers
ol Teom =0 2 Rfgia el ARwad @IeaT |

Fieam s 39T e wirgen fema Swieen w1 @1 gan amfm?
Rprenems TETER FEEeTg fTor)

T T, TiEH FEHE % WY AR W FH-PE ¥ 3w
27 arfufran ¥ g el wdie fafan)

(b) Explain the mechanism of the cleaning action
) of soa
AT W STerER el e 4 | Sk

SR T AREE FAR 2w A ae
FEHH GEHEE TR SREd |
I 1 TR Wieea1 i FRnfat quemy)
(c) Draw the structure of butanone.
R’ 1w foq =i | 1
REGHCR 169 B <iiea |
foger'f gromg Wi enfla |
AT h T TR iR
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33. (@) What would you observe when zinc is added to a solution

of iron(II) sulphate? Write the chemical reaction that takes
place. 2

SRR =D T foice a1 fire 5 ka2 sz TR
AfecHT fory |

SRRA(L) ST 73 R 41 et R ived 2 Sieafbe zeq1 IPRRR
fRfemfs ceea |

TR ke e et eReen W g AA? SR
TEEATR fEsmamget fow)

FEA() Fe%e F foorm # i B Tom @ =0 o 27 S Tl
affsan g, @ fafay)

(b) Give reasons : ' 1+1+1=3
TR e
IR i
RIGEEE
R0 FAqT3Y

(i) Platinum, gold and silver are used to make jewellery.

ST (SR F{430e (aifba, 'S A feetors ra 31 = |

SEPR A W (O] FACe 2fbAm, o (CTRB) @32 woqy
(Frerem) mee w71 =

T THEAEE WA, A AR et s Wy

I TR ¥ R T T S 0w R s 2
(1) Sodium, potassium and lithium are stored under ojl.

% oI, DRI W iR g coore Wiz 2wy 7y |

GG, BT < A 41 covet By apay 2

y%m,mﬁmm%ﬁmq@wﬁwamwl
aﬁ%m,'ﬂ%ﬁm@%fmﬁﬁa%mma%mw%l
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| (iii) Aluminium is a highly
make utensils for cooking. |

R oLE W@WWGWWWOWWWW-
TRt e N |
SRR e e g e ot T T cefd
RN

T e G g A A @ A EIEEIR)
S|
Wﬁaﬂmmm%,%{tﬁmw@mm

Or / %3 / 91 / gar / 44Tt

o TS

(@) What is refining of metals? Mention the most widely used
method for refining of impure metals. What is anode mud? 3

me{%zaﬁsqm?wﬁﬂ@wmmﬁﬁdﬂww
21l “Tale TrEd T | GH'T (@R IR (R ?
{ga (e TS (R 7 TS qTg O FIR T 2p9 AR
/43 28T Ao STHY P! | TS FU IS ¢ 2
| qIgERR BT R W OghE? TS SigeRe HeREf i
| AEATAR Ead! 7@ | TS By e g7

urgatt 1 afteR 27 uTgeT ¥ UEH H TEH H
oo R 37 TR H Y S

(b} Explain, why :
o, Y F4
@, AN I -
i A, QS
| i T, w4 -
i) Silver article
& exposed to aiSr. ogeens bladiatiop S0me time when

feeTorR wefie. o *f1g 41 T2 TorRy
e
2 °td | \W%gmi’m¢,3n

1+1=2
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ﬁmwmﬂmwmmmmﬂ@%{ﬁﬁmww
AT |

R emefeean st ot e Ay o <
TR e S

Tl 3 3 58 W o a3 WS A et el @ w3

() Copper reacts with moist carbon dioxide in the air and

slowly loses its shiny brown surface and gains a green
coat.

IR TORS | G I TREHETT w516 R F97 7975
T TR Yol1 IR “{Tee 03 (S W (S8 23 71 |

@ﬂmwaﬁewmwwwm—mwﬁm
FIR T OW Tege P 3 1 Il 7% 25 W GRF TR
E 3 2 I |

FIRAT SRE qFE RS F6 Sorgest e SHEh
mﬁ%ﬁﬁ@amwwwmsﬁﬁmam

ﬁma@ﬁwﬁaaﬁmﬁmm%maﬁmwt
ﬁvﬁwﬁmﬁsﬁﬁﬁm%ﬂi-%ﬁi@mﬁﬁ%awwm
T T ¥ e §

34, Name the parts of the excretory system in humans. Describe
the mechanism of urine formation and elimination. 2+2+1=5

Wmmmﬁmmmqmamwmﬁﬁmﬁmﬁm

AR (O 00 WP T T | Y2 Beofv @k T oy R
TR |
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or / 7&a1 / WAl / T / ST
ort system in highly

What are the components of the transp _
orted 1N

organized plants? How are water and minerals transp
plants? What is the role of transpiration in transporting walc
1+2+2=5

and minerals in plants?

mﬂ%ﬁﬂﬁmmmmﬁiﬁs?%@ﬂmﬁwwmﬁ
mﬁﬁﬁqm?mm@w@wmqﬁfiﬁﬁwmm
sfera g 762

mmﬁﬁwww%%?mmw @R e FI
WW@?WWWWWW%WWW

afers e 2

Wmmamﬁmmm@ﬁmmm?mém
@wmmm?m%m@mmmm%
T F W™ AEara e A

oatt TEa 1 TREE A F PP ¥ B ¢ aed F 9 @ @i
oo e TER uRERa €9 87 e § 9 W whe o % uiee |
FriveEet i F e Bl 87

" Draw the ray diagram of image formation by a convex mij

when the object is placed at its centre of curvature lerror

An object 5 cm in length is placed at a distance of (C).

front of a convex mirror of radius of curvature 30 29 cm in
position of the image, its nature and size. cm. Find the

2+3=

el AT 1o 1 AfoRR 3Ffba SR iRt orer . 5
W TR SRS ()

30 cm 18 AP TEE AT @9 LIS 20 ey

mammlmw,wmwr@w WSCmWW

efe =y
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STECE (C) [T =W |

30 cm ST PR @M Ted wmER TRY 20 cm [RCY S5 cm CRCd
T T N TR | R T, @ g 3% SR e I |
THI AT WRERT gt Ge g eRe Seen AR go ST
T e (C ) enfeeme s

30 cm ©@ @EEl e s Tl fRemeE 20 cm SHUEIE 5 cm
TR Y AR e wR wEEty e, 3 g AR Hew!
il

el 3w wdo g = whafie = feo e R R, S9 asg 79 %
Fhell-F= (C) W e /)

5cm @ $ ®E a5y 30 cm Twa-Ben % fedt I IO F WA

20 cm R g ® wlt = ?) wfafm f fofa, v aon @ TR T
iR

Or/W/WW/W/WW

“The refractive index of diamond is 2:42.” What is the meaning
of this statement?

A convex lens forms a real and inverted image of a needle at a
distance of 50 cm from it. Where is the needle placed in front of
the convex lens if the image is equal to the size of t
Also, find the power of the lens.

Find the power of a concave lens of focal length 2 m.
“RR AT 2:42."° 2 TREBR uY X 9
1 wm@mﬂ@aﬁmmwemﬁﬁoﬁﬁwwmcmm
mmlwﬁ%ﬁwwwmmmww
CTRA TYY® ' 34 (2R 2 OPHfR ot ot fivefy oy |

2 m ¥R (TN S (b Q4= Tl fefy 9 |

‘AW T 242, @2 TRl e R o
aﬁ%mﬂﬁmmﬁ«%ﬁﬁ%ﬁamm@,acw
50cmm:vﬁﬂ%ﬁmawaww$m@,ww
TEH (TR TCY (PN A ARE 0w

he object?

Tl ey gy
2 m (TR ML 96 S qos (TR ol ey <y |
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Sy fiftre o 2-42”71 & Snonfy afifewm A7 :
T T AT 50cmrﬁamaﬁﬁ%ﬁ1ﬁnﬁq@wmwmm§r@
Wﬁlﬁﬁlgﬁmm:ﬁaﬁyﬁmwmmﬁaﬂ@@m
Sy R WA R S ¢ i S e g

2 m &'HE TAUEH Ted 9 T8 Me! g |

“ER T TS 242 21" T FA B 1 AW 17
ﬁm%%ﬁ@wmﬁmawmuﬁﬁaméﬂﬁ 50 cm R Sl
%!%g‘%m?ﬂ:%wﬁaﬁﬁr@%,aﬁmuﬁﬁawmmm@
2 g IR ) ag 27 ofw A gma sft 3 A

2 m B g T TRt SrERE e o & i i

36. What forces would be working against an equitable distribution
of our resources? Suggest some approaches towards the
conservation of forests. 2+3=5

Wﬁ@ﬁﬁﬂﬂmwﬁwmﬁmﬁwﬁmwaﬁm? ERIRG
LT HooS TOAS H9ICLRT |

W AFRF TeRGTER TR RE @ FE & FIAR? IV
S IR O IS |

sﬁﬁﬁrmﬁmﬁwﬁmﬂmﬁ%m&nﬁmmﬁmﬁm
37 g SrETy SR A TR gge 8|

o % wAE e ¥ feg PR-AR @ aeed wHE R weRd 87 o F
e ¥ T $9 IUE gEEt|

Or / %31 / 9%A! / & / Srerar
What is the importance of reduce, recycle and reuse to save the
environment? What changes can you make in your habits to

become more environment-friendly? 3+2=5

o T CFIS ZIRA, RHETI WE R 9% R, fora |
qﬁmﬁt\ﬁi’ﬂawﬁsﬁswﬁmaﬁamm
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. i Q@%W% SRR @Ry AR @Fg f,
e RN zeTR & comm & R SreeT ofRds FReS TN ?

mﬁ@fwﬁmmwm,ﬁﬁmmm&qﬂﬁﬁw
TerETan forg@ TR A WA geTE were T

TAE &
ﬁagﬁjmwm gq:awaﬁxngmnwwrrsa%?
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